	
	LASER INTERFEROMETER GRAVITATIONAL WAVE OBSERVATORY
ALIGO ASSEMBLY DRAWING
	D1001851
	-v4-

	
	
	Document No
	Rev.

	
	
	Sheet 1 of 5

	aLIGO AOS OpLev TRX Pier Assembly (HAM)



	AUTHOR(S)
	DATE
	Document Change Notice, Release or Approval

	Eric James 
	9 Sep, 2012
	see LIGO DCC record Status


This document is intended to serve as a description of this assembly until a real assembly drawing can be made.

[image: ]

Figure 1: HAM Transceiver Pier Assembly. Shown with cover removed. 

Bill of Material
	Item
	Part number
	Description
	Quant.

	1
	D1001854
	TRX Pier Weldment
	1

	2
	D1000434
	Pier Footing
	1

	3
	D1001627
	TRX Mounting Base
	1

	4
	D1001620
	QPD Bracket
	1

	5
	D1100290
	QPD Board Assembly
	1

	6
	
	15-pin M-M Cable, Photodiode Board
	1

	7
	KSP-60-C1A-S05
	OptoSigma Rotary Stage
	1

	8
	GOHT40A10-MO2 0600-S10
	OptoSigma Goniometer
	1

	9
	SL38
	Newport Gimbol Mirror Mount
	1

	10
	
	Pico Motors w/Cables
	2

	11
	D1102242
	Transmitter Telescope Mount
	1

	12
	D0901362-1
	Projection Telescope Assembly, Short
	1

	13
	D1200463
	Transceiver Enclosure Assembly
	1

	14
	D1200622
	6-inch Reducer
	1

	15
	CT-6
	Gortiflex 6" Rubber Bellows
	1

	16
	
	1/2-20 x 1.5" Hex head cap screw
	9

	17
	
	1/4-20 x 3/4" SHCS
	10

	18
	
	1/4-20 x 3" SHCS
	1

	19
	
	#8-32 x 1/2" SHCS
	11

	20
	
	#8 Flat Washer
	11

	21
	
	M3 x 10 SHCS
	4

	22
	
	M3 x 6 SHCS
	4

	23
	
	#4-40 x 5/8" SHCS
	4

	24
	
	3" Band Clamp
	1

	25
	45945K37
	McMaster -Carr 6" Band Clamp
	2

	26
	92421A540
	McMaster -Carr 1/4-20 Brass Thumb Screw
	3

	27
	9600K62
	McMaster-Carr Rubber Grommet
	1

	28
	F12 635S
	Fermion Laser w/ 10m fiber
	1

	29
	D1200461
	Laser Power Board
	1

	30
	D1100013
	Whitening Chassis
	1

	31
	D1101248
	Anti-aliasing Chassis
	1

	32
	
	9-pin M-F Cable, Anti-aliasing Chassis
	1

	33
	
	BNC M-M Cable, Laser
	1

	34
	
	
	

	35
	
	
	



[image: ]
Figure 2: Telescope mounting hardware
[image: ][image: ]
Figure 3:Base plate details


[image: ]
Figure 4: Cover installed



Notes, August 23, 2012:
During installation, it was discovered that the telescope was too long for the return beam to get behind it and to the QPD. The solution was to raise the telescope mount using a 1/2" shim (see below) and lower the folding mirror mount by omitting the block under it (D1001628). It was necessary to drill new holes in the base plate (D1001627) to mount the mirror without the block (see modification drawing below). This left the QPD too high to steer the beam to it so the bracket was installed backwards (turned 180°) and make a new set of #4-40 holes in the bracket at a lower elevation.

Since the telescope for the beam splitter transceiver is much smaller, it was not necessary to make the same changes for the beam splitters which otherwise use the same transceiver design.

[image: ]

[image: ]

image3.jpeg




image4.jpeg




image5.jpeg




image6.png
© @ telescope spacer_ SheetLpdi_ Adobe Acrobat Pro
Fle Edt View Dowment Comments Foms Took Advanced Window ish

~=lolx| Pasadena

= 16057510 et . |l -Brlin o, U, Yot [ — [ 160 ormen: seaeh et x|+ We9°

Fle  Edit

e - ) creste - B2) combine + ) Caliaborste + (@) secure = ' sign + (5] Forms - {5 Muttimedia ~ (P Cornment -

€ )P | @ htpsifjdccigo.orgjcqrbinfprivate/DocDBSsarchimasdacs=S00t0uterlogic=ANDEinnerlogic=ANDEmode =datetnumbersearch=gnumbersearchmode=sliubatitessarch=housingad tiesearchmode=all ] [$8- Goooe | &

[l =] & & a.9% Find R
c 12} Most visted 1GO Roster/Staff Di... »** LIGO Document Contr... * LIGO-E1200026-x0: a... ** LIGO-G1000061-v25: I3 Bookmarks

Calendd : St =

s
sktop|Dacumerts|ansys Search Results
SocplDocumentsansys [Home ] [Reserve Number] [ Search][ 1

sktoplDocuments!ansys
sktoplDocuments!ansys.
sktoplDocuments!ansys
sktoplDocuments!ansys
sktoplDocuments!ansys

sktoplDocumentsansys D1201133-v1 Housing, aLIGO TCS CO2 Laser Photodiode Preamp Board 17 Aug 2012

cktop|Documentslansys
_>l_I

SRAWRG TREET

LSO SET o B STALLED 3Y e pessn D1201005-v2 ALIGO 10 HSTS OPTIC CONTAINER CAP SPRING HOUSING 31 Jul2012

D0S00357-v2 Faraday Isolator Wedged Prism Holder 17 Jul 2012

T8

o+l 4X @ .20 THRU ALL\ 15 May 2012

n2
2% 20

VLATES 19 Apr 2012
Sl cate
Wy Catend e dene 01 Apr 2012
@7 caie
O e . D1101123v2  allGOPSL photodiode housing 15 Mar 2012
17 Feb 2012

D1200250-x0 ALIGO LIGHT PIPE BAFFLE HOUSING HATCH 09 Feb 2012

06 Feb 2012
06 Feb 2012

_ E 06 Feb 2012

o 06 Feb 2012
() ross

304 STAINLESS STEEL : 06 Feb 2012

55 tems TS D T IS T ST P ——— T 06 Feb 2012

—— Boas s Lico S creemoeer TELESCOPE SPACER

e R e T e e e ” D1002172v1  ISC QPD Housing Retainer 03 Feb 2012

" Riaterial <not speciied> | - e T T == T
7

T

P
telescope spacer, PART PDM REV: , DRAWING PDM REV:

B it ot o124t
- e EIEICEIEAEpS q g





image7.jpeg
4

D50E HGBAVE O & MECHAICALLY TAMD (10 WIS

SRS SRS R
VARNT o RTPE FAICAMLE] b O TED SUREACE
EURPLE DAY Y98 06 74 15k

10 RLRELL SO WSERS 10 BE MSTALLED $YL1c© pessonneL,

HOTES AND TOUEUANCE:UNIESS OTHERWKESPEC D)

(B S061-T6 Al

i

o

N/A pinch

3

Oplev Mounting Plate modified, PART FDW REV: 011, DRAWING FDM REV

B ° 145 i
I
268 —=
CALIFORNIA INSTTUTE OF TEC HNOLOGY (ERET MAME. ALIGO ACS

ADVANCED LIGO | ACS

00900423

a D1001627

T

2X B .169 THRU ALL

/ L ® 327 .20

QOPLEV MOUNTING PLATE (HAM]

&g




image1.jpeg




image2.jpeg




image8.png
LIGO





